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1. Central Bank intervention

(a)
(b)

Explain the difference between a sterilized, a non-sterilized and an oral intervention.

Explain using the central bank balance sheet how a sterilized and a non-sterilized

intervention may be carried out.
What is the main objective of Danish monetary policy?

How does the Danish central bank, Nationalbanken, use central bank intervention

and other monetary policy instruments to carry out its objective?

Are Danish central bank interventions effective? Put the effectiveness in an interna-

tional perspective.

2. FX market micro structure

(a)

Consider the following standard two-country micro based macro model:
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where notation is standard. Explain the underlying assumptions of this model and

the rationale behind the equations stated above.

Show that the nominal exchange rate (under the assumption of no bubbles) can be

written as
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provide an interpretation of these equations.
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If we assume that aggregate demand for foreign currency is given by
1 =N
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and if we also invoke the risk sharing condition EPa; = 0, we find that the risk

premium can be written as
(5,5 = Ezp [Serl — aishti| (7)

where s§, | = s441 — [E; s¢41. Discuss the implications of the risk premium relation.

How are order flows linked to the risk premium?

Show that equation (4) can be written as

o o o
st = (v — 1) + EP szftJri +LEP szhtJri - %Ef) ZPZSfﬂ' (8)
=1 =0 =1

Interpret this relation and discuss whether this model can solve the disconnect puz-

zle?



